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1. ‘Auto-education or self-education’ is emphasized by:

A)  Idealists B)  Naturalists

@) Realists D)  Pragmatists

Which among the following is not a part of traditional Indian culture?
A)  Dharma and Karma

B)  Concept of Universal Consciousness

@) Peace and nonviolence

D) Restructuring of values

“Music 1s a moral law. It gives soul to the universe, wings to the mind, flight to the
imagination, and charm and gaiety to life and to everything.” Who stated this?

A) Gandhiji B) S.Radhakrishnan

C) Plato D) Rabindranath Tagore

Concept formation involves:

A)  Abstracting only

B)  Generalisation only

@) Both abstracting and generalization
D)  Neither abstracting nor generalization

Child Apperception Test (CAT) for Personality measurement was developed by:
A)  Holland B) Skinner C) Murray D)  Bellak

Match the following:

List I List I

a. Model of Intellect 1. Thorndike

b. Multiple intelligence 2. Guilford

c. Multifactor theory 3. Goleman

d. Emotional intelligence 4. Gardner

A) a-2,b-4,c-1,d-3 B) a-1,b-4,c¢-2,d-3
@) a-4,b-3,c-2,d-1 D) a-4,b-1,c-2,d-3

Out of the following, which alternative shows characteristics of the “Formal
Operational Stage” given by Jean Piaget?

A)  Object Permanence in children

B) The child gains an understanding of principles such as conservation
C)  The child acquires reversible thinking ability

D)  Create several forms of logical thought
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Which of the following is a form of research typically conducted by practitioners
to help them solve local problems?

A)  Historical research B) Basic research

@) Action research D)  Experimental research

The unsuccessful achievement of certain skills lead to inability to perform as
expected at certain stages. They are known as Developmental:

A)  tasks B) hazards @) disorder D)  stage

Area of philosophy that deals with nature and the origin of human knowledge is:
A)  Axiology B)  Metaphysics

O Epistemology D)  Theology

If an 8" standard student understands the logical connection between ideas and
concepts, which of the following life skills does he demonstrate?

A)  Problem solving B) Critical thinking

@) Creative thinking D)  Effective communication

“Evolving a human learning society through the advancement of knowledge”.
Which national agency put forward this vision?
A)  NIEPA B) CABE C) CASE D) RIE

Curricular inputs are implicitly provided to learner by the organization through
various means is known as:

A)  Core curriculum B)  Null curriculum

@) Hidden curriculum D)  Overt Curriculum

Consistency of a measuring tool is known as:
A)  Accuracy B) Validity @) Reliability D)  Applicability

Digital audio content distributed over the internet is known as:

A) e- content B)  Podcasts C)  Vlogs D)  Digital diary
11" November is celebrated as National Education day of India from:

A) 2008 B) 1961 0) 1956 D) 2002
Identify the most appropriate strategy for promoting creativity in classroom.

A)  Brainstorming B) Lecturing

@) Peer tutoring D)  Discussion

For assessing the predictive behaviour of students, which of the following is the
most appropriate test?

A)  Diagnostic test B)  Prognostic test

C)  Achievement pest D)  Performance test



19.

20.

21.

22.

23.

24.

25.

26.

27.

In asynchronous e-learning communication between the participants occur
A)  Offline B) Online
@) Face to face D)  Virtual environment

Which of the following outlines a methodology to rank institutions across the
country?

A)  NAAC B) NAC C) AICTE D) NIRF
Match the following:

List I List I

a. LMS 1. Rating Scale

b. RUSA 2. Eclectic

c. Evaluation 3 . Higher education

d. Counselling 4. MOODLE

A) a-2, b- 3, c-4, d-1 B) a-4, b-3, c-1, d-2

@) a-1, b-4, c-2, d-3 D) a-3, b-1, c-2, d-4

Identify the correct statement/s:
1. Planning is the essential requirement for a good administration.
2. Educational administration involves optimum use of resources

A) 1 only B) 2 only C) Both1 &2 D)  Neither 1 nor 2
RPWD Act came into force in:

A) 1995 B) 2004 0) 2009 D) 2016
Reducing the environmental impact of technology is known as:

A) Super computing B) Green computing

@) e- waste management D)  Carbon emission technology

FIACS stands for:

A)  Flander’s Interaction Analysis Category System

B) Flander’s Information Analysis Communication System
@) Flander’s Interaction Analysis Classroom System

D)  Flander’s Information Analysis Classroom Strategy

The mode of grading where grades are given based on predetermined cut off
levels is known as----- grading.
A)  Permanent B) Absolute @) Relative D)  Temporary

Which of the following is not true in the case of Institutional planning?
A)  Consider felt needs

B)  Optimum utilization of resources

@) Prepared by a particular institution

D)  Limited utilization of resources
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Class room management is:

A)  Imposing discipline

B)  Punishing the students in the classroom

C)  Allow student freedom in classroom

D)  Providing safe and comfortable learning environment

In educating the differently abled students, IEP is:
A)  Integrated Education Programme

B)  Inclusive Education Package

@) Individual Education Plan

D) Interesting Educational Programme

Identify the correct order of the following stages related to Erickson’s Psychosocial
Development theory:

Autonomy vs Shame and doubt

Identity vs Role confusion

Initiative vs Guilt

Industry vs Inferiority

P

A 1,2,3,4 B) 2341 C 3,41,2 D) 13,42

In Roger’s perspective, the compassion and the recognition of potential of each
and every individual is known as:

A)  Unconditional Love B)  Conditional Love

@) Client centred therapy D)  Unconditional positive regard

Match the following:

List I List I

a. Bobo doll Experiment 1. Tolman

b. Operant Conditioning 2. Albert Bandura

c. Human Maze Learning 3. Skinner

d. Latent Learning 4. Thorndike

A) a-2, b-3, c-4, d-1 B) a-1, b-4, c-3, d-2
@) a-4, b-1, c-2, d-3 D) a-2, b-4, c-3, d-1

A cluster of dysfunctions that is characterized by extreme self-absorption,
repetitive motor activities, and the impairment of language and conceptual skills
is known as:

A)  Depression B) Autism

C) Learning Disability D)  Dyslexia

b
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Several responses to an event are possible, those that lead to reward tend to
become more strongly associated with the event, while those that lead to
punishment become more weakly associated. This law is:

A)  Law of Use B) Law of response by analogy

C)  Law of multiple response D)  Law of effect

Match the following:

List I List I

a. Life Space 1. Piaget

b. Information processing 2. Passi

c. Creativity 3. Ebbinghaus

d. Animism 4. Lewin

A) a-2, b-3, c-1, d-4 B) a-4, b-3, c-2, d-1

O a-3, b-2, c-4, d-1 D) a-4, b-1, c-2, d-3

The ceremony of initiation of education in Buddhism is known as:
A)  Upanayana B)  Upasampada

@) Bratopanayan D)  Pabbajja

“Our secondary education remains the weakest link in our educational
machinery”.This statement was made by:

A)  Mudaliar commission

B)  Harthog commission

@) Radhakrishnan commission

D)  Kothari commission

Match the following:

List I List I

a. Adult Education 1. John dewy

b. Integral Education 2. Eduard C Lindeman
c. Progressive Education 3. Mahatma Gandhiji
d. Wardha Education 4. Sri Aurobindo

A)  a-2,b-3,c-1,d4 B) a-1, b-2, c-3, d-4
@) a-2, b-4, c-1, d-3 D) a-1, b-4, c-2, d-3

The ego-defence mechanism that pushes unacceptable thoughts, memories,
impulses, or desires beyond conscious awareness:

A)  Projection B)  Repression C)  Regression D)  Sublimation

The extent to which a test measures what it is supposed to measure is called:

A)  Reliability B) Validity @) Objectivity D)  Suitability

Match the following:

List I List I

a. Genetic Epistemology 1. Vygotsky
b. Pedagogy of the oppressed 2. Ericson
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c. Identity and life cycle 3. Piaget

d. Mind in society 4. Paulo Freire
A) a-2, b-4, c-3, d-1 B) a-3, b-1, c-2, d-4
@) a-3, b-4, c-2, d-1 D) a-2, b-3, c-1, d-4

The collective term for all therapeutic treatments based on psychoanalytic
principle that use psychological rather than physical or physiological means:
A)  Non directive counselling B) Behaviour therapy

@) Psycho therapy D)  Directive counselling

Identify the correct statements about a slow learner:

1. His or her thinking skills develop at a notably slower rate than peers.
2. Delay in achieving developmental milestones

3. Normal intellectual growth while comparing with peers.

4. Always poor physical growth while comparing with peers.
A) 1 &2 only B) 1,2&3only C) 3 &4only D) 1,2,3&4

Match the following:

List I List I

a. Interaction Analysis 1. Edgar Dale

b. Programmed Learning 2. Sidney L Pressy

c. Teaching Machines 3. Flanders

d. Cone of experience 4. Skinner

A) a-2, b-4, c-3, d-1 B) a-3, b-4, c-2, d-1
@) a-1, b-3, c-2, d-4 D) a-4, b-3, c-1, d-2

Who defined “Curriculum is a tool in the hands of the artist to mould his/her
materials according to his/her ideals in the studio™?
A)  Frobel B)  Crow and Crow

@) Cunningham D)  Pestalozzi

A test designed to measure relative accomplishment in a specific area of academics:

A)  Achievement test B) Personality test
C)  Intelligence test D)  Diagnostic test

If an exceptional child is enrolled in the regular classroom and goes to the special
room for specialised instruction. That room is called----- room.

A)  Therapy B)  Enrichment C)  Resource D)  Enhancement

The national organization for propagating culture among college and school students:

A)  NIEPA B) ICSE C) CCRT D) AICTE

Raju is a teacher, his headmaster asked him to make an e content on the topic
democracy. Raju followed some steps based on ADDIE model. Select the correct
step based on this model.
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A)  Analyse, Develop, Design, Inspect, Execute
B)  Arrange, Design, Develop, Inspect, Execute
C)  Analyse, Design, Develop, Implement, Evaluate
D)  Analyse, Develop, Design, Implement, Evaluate

Unintended or hidden consequences of a social institution is known as:

A)  Latent function B) Dysfunction
C)  Manifest function D)  Misfunction
Expansion for NPTEL:

A)  National Programme on Technology, Education and Learning.
B)  National Policy on Technology Enabled Learning.

C)  National Policy on Technology Embedded Learning.

D)  National Programme on Technology Enhanced Learning.

A comprehensive initiative that unifies digital/online/on-air education to enable
multi-mode access to education is:

A) DIKSHA B) NISHTHA C) SWAYAM D) PME-VIDYA

Match the following:

List I List I

a. Interactive Education 1. Netscape

b. Cloud Storage 2. Linux

c. Content portals 3. Google Drive

d. FOSS 4. Google Classroom
A) a-4, b-1, c-3, d-2 B) a-1, b-2, c-3, d-4
@) a-4, b-3, c-1, d-2 D) a-2, b-3, c-1, d-4

“No citizen shall be denied admission into any educational institution maintained by
the state or receiving aid out of state funds on grounds only of religion, race, caste,
language, or any of them”. The article of the Indian constitution where this provision is
ensured is:

A)  Article45 B) Article 29  C) Article 17 D)  Article 14

Select the department under which SIEMAT is functioning:

A) SCERT B) NCERT

@) General Education D)  Higher Education

Which of the following strategy is not based on social constructivist approach?
A)  Guided learning B) Reflective learning

@) Cooperative learning D)  Collaborative learning

Match the following:

List I List II
a. ANOVA 1.Urkund
b. Plagiarism 2. Experimental design
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c. Qualitative research 3. Statistics

d. Dependent Variable 4. Grounded theory

A) a-4, b-1, c-3, d-2 B) a-3, b-1, c-4, d-2
@) a-4, b-1, c-2, d-3 D) a-3, b-2, c-4, d-1
The sociologist who introduced the concept of ‘Anomie’:
A)  Max Weber B) Herbert Spencer
@) Wright Mills D)  Emile Durkhem
Match the following:

List I List i

a. Foundational stage 1. KCF

b. Preparatory stage 2. NCF

c. 26 focus areas 3.8 to 11 years

d. 25 focus areas 4. 3 to 8 years

A) a-4, b-3, c-1, d-2 B) a-4, b-3, c-2, d-1
@) a-1, b-2, c-3, d-4 D) a-2, b-3, c-4, d-1

The first National Policy (NPE) was promulgated by the Government of India in:
A) 1948 B) 1950 0) 1964 D) 1968

‘Cooking to save your life’ is a cookbook containing a collection of recipes
authored by an Indian Nobel Laureate:

A)  Rabindranath Tagore B)  Amartya Sen

@) Abhijit Banerjee D) C.V.Raman

The day declared as ‘“World Football Day’ by the United Nations recently:
A)  7"April B) 25"May C) 6" June D) 11" November

The farmer from Kerala honoured with Padma Shri 2024 for preserving over 650
traditional rice varieties:

A)  Narayanan E. P. B) Sathyanarayana Beleri

@) Cheruvayal Raman D) S.R.D. Prasad

Whoever, intentionally or knowingly captures, publishes, or transmits the image
of the private area of a person without his consent violating the privacy of the
person is punishable under section---- of the IT Act in India.

A) 66E B) 66C C) ©66B D) ©66A

In March 2024, India successfully launched the 5000 km range nuclear missile
with MIRV technology which can deliver multiple warheads at different locations
in a single launch. The name of the mission is Mission:

A)  Divyastra B)  Pasupathastra

C)  Nagastra D)  Varunastra

Proponent of the continental drift theory is:

8
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A)  Herodotus B)  Mathew Flinders

C)  Amerigo Vespucci D)  Alfred Wegener

Which following diseases has been nick named as ‘Blue death’?

A)  Ebola B) AIDS C)  Plague D)  Cholera
Author of ‘How to Avoid a Climate Disaster’:

A)  Greta Thumberg B) Sunderlal Bahuguna

@) Bill Gates D)  Pope Francis

Match the following epics of the Sangham Period (List I) with their authors (List 1)

List I List I

a. Silappadikaram 1. TiruttakkaTevar

b. Manimeghala 2. Nagakuthanar

c. Jivak Chintamani 3. Ilango Adikal

d. Kundalakesi 4. Sathanar

A) a-4, b-1, c-3, d-2 B) a-3, b-4, c-1, d-2

@) a-1, b-3, c-2, d-4 D) a-3, b-2, c-1, d-4
‘Antares’ recently in the news is a/an:

A)  Altool B) Submarine C) Cyclone D)  Star
The IIT which was granted a patent for its cost effective invertors:
A) 1T Patna B) T Mumbai

C) T Chennai D) T Palakkad

The art forms from Kerala which have found a place in UNESCO list intangible
cultural heritages:

1. Kathakali 2. Bharatanatyam

3. Koodiyattam 4. Mudiyettu

A) 1&2only B) 2&3only C) 3&4only D) 1 & 3 only

The astronaut who has spent the maximum time in space:

A) Scott Kelly B) Sunita Williams
C)  Oleg Kononenko D)  Gennady Padalka
Identify the indirect taxes from the given list of taxes:

1. Customs duty 2. Stamp duty

3. Entertainment tax 4. Service tax
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A) 1&2only B) 2&3only C) 3&4only D) 1,2,3&4

The mega air exercise the Indian Air Force will host in August 2024, expected to
being together 12 global Air Forces:

A)  Tarang Sakthi B) Gagan Sakthi

@) Vayu Sakthi D)  Indradhanush

Identify the correct statements about the groups of nations:

1. European Union and African Union are members of Group of 20 (G20).

2. Euro is the common currency of all members of the European Union.

3. The headquarter of the League of Arab States is Cairo.

4. Non-aligned movement (NAM) is the largest grouping of states worldwide
after the United Nations.

A) 1,2& 3 only B) 3&4only C) 1,2&4only D) 1,3&4only

Identify the correct statements about Finance Commissions in India:

1. Finance Commissions are constituted periodically under article 280 of the
Constitution.

2. The Finance Commission consists of the Chairman and seven other members.

3. The present Finance Commission is the 15th in the series.

4. Aravind Panagariya is the Chairman of the present Finance Commission.

A) 1 &2only B) l1&4only C) 2&3only D) 1,2,3&4

If 221 =215, 321 = 315, 421 = 413, then 521 = ?
A) 511 B) 509 C) 513 D) 515

Anil got it in the neck for being late.

The meaning of the sentence is:

A)  Anil was severely punished for being late.

B) Anil was sacked from the job for being late.

C)  Anil was given a mild warning not to be late in future.

D)  Anil was appreciated for not participating in the ugly incidents, being late.

Choose the option which is closest in meaning of the underlined idiom in the
given sentence.
He has the habit of taking the bull by the horns.

A)  escaping cleverly

B)  avoiding something cunningly

@) doing something decisively and bravely
D)  addressing someone rudely

‘Testator’ 1s a man who made a will. A woman who made a will 1s ----.
A)  testatric B) testatrix C) testatoress D)  testatrine

Identify the name of the capital of a country from the following clues.
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1. It 1s the capital of a South American country.

2. The name of the capital is the same as the main character of ‘Old Man and the
Sea’ of Ernest Hemingway.

3. The protagonist of the novel ‘Alchemist’ of Paulo Coelho also has the same name.

A)  Stanley B) Willemstad C) Lima D)  Santiago

Assertion (A): The internet is a collection of interconnected computer networks,
linked by transmission medium such as fibre optic cables,
transmission wires, wireless connections, etc.

Reason (R): World Wide Web is a collection of websites or web pages stored in
web servers and connected to local computers through the internet.

A)  Both (A) and (R) are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
@) (A) is true but (R) 1s false

D)  (A)is false but (R) is true

In February 2024, the lander of a private US spacecraft, the first American lander on the

moon since 1972, touched the surface of the moon. What is the name of the lander?
A)  Odysseus B) Altemus @) Eagle D)  Chang’e 3

Bhanu Athaiya, the first Indian to win an Oscar Award won the award for
excellence in:

A)  Acting B) Editing

@) Make up D)  Costume designing

Identify the games which are not included in the 2024 Olympics:
1. Cricket 2. Tennis 3. Tug-of-War 4. Volleyball

A) 1 &2 only B) 2&3only C) 2,3& 4 only D) 1& 3 only

As per Malayalam calendar (Kollavarsham) the Gregorian calendar year 2024 is:
A) 1898-1899 B) 1109-1110 C) 1199-2000 D)  2012-2013

Identify the correct statements with reference to ‘International Day of the World's

Indigenous Peoples’.

1. It is observed on August 9" each year.

2. Theme focus on issues like land rights, cultural heritage, education, health,
and social inclusion. The theme of 2023 is: Indigenous Youth as Agents of
Change for Self-determination

3. Established by the United Nations Development programme in 1994 through
the Resolution 49/214.

A) 1,2&3 B) l1&3only C) 2& 3 only D) 1 &2 only

————— is the least electronegative element and ----is the most electronegative
element in the periodic table.
A)  Caesium & Fluorine B) Beryllium & carbon
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@) Magnesium & Chloine D)  Fluorine & Francium

Which following body is associated with ‘Surety Bonds that protects the party
involved in a transaction or contract from potential financial loss caused by the
breach of contract or other types of non-performance?

A)  Reserve Bank of India

B) Insurance Regulatory and Development Authority

@) Securities and Exchange Board of India

D) National Payments Corporation of India

What is Juice Jacking?

A)  Cloud computing company suffered a ransomware cyber attack where
hackers rig caused an outage in its email hosting service, affected
thousands of customers

B)  Type of cyber attack linked with Al and other next - gen technologies
web threats fraud and scamming scenarios to get more intricate and
challenging to detect

@) Type of cyber attack where hackers rig publicly accessible USB power
charging stations, like those found at airports, rail stations, malls etc., with
malware or hardware modifications to illegally access data on connected
mobile devices

D)  Crypto Scams cyber attack where hackers rig interpersonal relationship
tragedy and a financial disaster for the victims.

Two persons P and Q were born on the same date and month but in two different
years such that P is four years older than Q. If P was born on a Monday, then what
could be the day of the week on which Q was born?

A)  Monday or Tuesday B) Tuesday or Wednesday

@) Thursday or Friday D)  Friday or Saturday

The quantities N, a, b, c, d, e are related as N= 2abc+3de. If a, b, ¢, d, € increase
by 25%, 60%, -10%, 20% and 50% respectively. What is the percentage increase
in N?

A) 60% B) 45% @) 80% D) 72%

“6 X 6 X 6 strategy”, which is often seen in media is related to:

A)  Reduce prevalence of anaemia in women, children and adolescents through
life cycle approach

B) Reduce prevalence of TB in women through life style approach

@) Reduce cervical cancer among youngsters

D)  Eliminate poverty and hunger through sustainable life style

12
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————— was a major Harappan seaport and a major trading centre located along the
Bhogava river, a tributary of Sabarmati, in the Gulf of Khambat in Gujarat famous
for Dockyard.

A)  Lothal B) Banawali C)  Chanhudaro D)  Dholavira

Athula’s Mushakavamsa Kavya gives a semi-legendary semi factual account of
the king :

A)  Kozhikode B) Ezhimala

@) Kolathunadu D)  Travancore

Three persons M;, M, and M; can complete a work in 15, 20 and 30days
respectively. Only two of these three work in any given day. But, the same two
persons do not work for any two consecutive days. What is the least number of days
in which the work is completed?

1

6 8 5
A) 82 B) 4= 0 9- 2

D) 52

How many three digit numbers lie between 200 and 500 in which 4 comes only one
time?
A) 117 B) 135 0) 139 D) 143

Select the most appropriate synonym for the word ‘Abrade’:
A)  Abandon B) Insensitive C) Wear away D)  Miserable

What is the lease 4 digit number when divided by 3, 4, 5 and 6 leaves a reminder 2
in each case?
A) 1222 B) 1022 C) 1122 D) 1012

In a certain code If AIRLINE is noted as ENILRIA7, then RAILWAY will be
noted as:

A) YAWILARS B) YAWILAR7

C) YAWLIARS D) YAWLIAR7

Five balls of different colours are to be placed in three different boxes such that any
box contains atleast 1 ball. What is the maximum number of different ways in which
this can be done?

A) 120 B) 180 C) 90 D) 150

Astronomers have made a puzzling discovery, detecting a rare and incredibly
high-energy particle named ----falling to Earth named after the Japanese sun
goddess, 1s causing confusion as it appears to originate from an apparently empty
region of space

A)  Amaterasu B) Crab Nebula C)  Pulsars D)  Muon
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104. The three cities in India which have joined the UNESCO ‘Global Network of
Learning Cities’ in 2022:
1. Thrissur 2. Nilambur 3.Warangal 4. Ramappa

A) 1,2&3 B) 1,3&4 C) 1,2& 4 D) 2,3&4

105. What is Hanooman?

A)  Multimodal Al tool, capable of generating text, speech, videos, and more
across various domains such as healthcare, governance, financial services,
and education

B) Artificial Intelligence start-up launched by Ola founder has rolled out an Al
chatbot in public beta, similar to Open AI’s ChatGPT and Google’s Gemini

@) European Southern Observatory’s (ESO) Very Large Telescope (VLT),
astronomers have recently identified the brightest luminous object ever
observed

D)  Cloud software launched a new point-of-sale (PoS) solution aimed at
empowering and streamlining operations for small and medium brick-and-
mortar retail stores across India

106. Recently, Food & Drug Administration (FDA) United States approved the world's
inaugural vaccine for chikungunya namely:

A)  Ixchiq B) R21/Matrix-M
@) Rotavac D)  Molnupiravir
107. Identify the plants which come under the Schedule VI of Wild Life (Protection)
Act, of 1972:
1. Beddomes’ cycad 2. Blue Vanda
3. Slipper orchids 4. Red Vanda

A) 3 &4only B) 1,2&3only C) 1,2,3&4 D) 1 & 4 only

108. A man divides his property so that ratio of his son’s share to his wife’s and the ratio
of wife’s share to his daughter are both 3:2. If the daughter gets Rs. 19 lakhs less than
son, then the total worth of his property is:

A)  Rs. 57.4 lakhs B) Rs. 76.6 lakhs
C)  Rs.72.2 lakhs D)  Rs. 65.4 lakhs
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A person has to completely put each of three juices 434 litres of orange, 496 litres of
grapes and 554 litres of pineapple in bottles of equal size without mixing any of the
above three types of juices such that each bottle is completely filled. What is the least
possible number of bottles required?

A) 48 B) 38 C) 46 D) 44

The theme of International Women’s Day (IWD) 2024 is:

A)  Invest in Women: Accelerate Progress

B) Gender equality today for a sustainable tomorrow

@) DigitALL: Innovation and technology for gender equality

D)  Women in leadership: Achieving an equal future in a post COVID-19 world

RISE stands for:

A)  Government scheme to make six crore persons in rural areas, across
States/UTs, as digitally literate, reaching around 40% of rural households
by covering one member from every family

B) Government scheme will pay thousands of rupees to government school
students studying in Class V to XII. Only girl students are included in the
scheme to rise

@) Government scheme made to revive infrastructure facilities, and build
ducational Institutions across the country by providing low cost funds/loans
to educational institutions

D)  Government scheme to design curriculum and credit framework for four-
year undergraduate programmes released recently by the University Grants
Commission

If Cogent : Convincing :: ------ D .
A)  Cunning : Cruel B)  Dubious : Certain
C)  Banal : Ordinary D)  Nonchalant : Concerned

Which Department of Kerala recently launched ‘Operation Amrith’ in the state?
A)  Tourism

B)  Drug Control

@) Food, Civil Supplies & Consumer Affairs

D)  Information and Public Relations

In the recent ruling, the Constitution bench of the Supreme Court held that
electoral bonds violate citizens’ right to information under :

A)  Article 18 B) Article 19(1) (a)
C)  Article 16 (2) D) Article 15 (2)
Match the following:
List I (Awards/Prize) List II (Person)
a. PEN Pinter Prize 2023 1. Kartiki Gonsalves
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116.

117.

118.

119.

120.

b. Elephant Family environmental award, 2023 2. Waciny Lared;

c. Nyholm Prize for Education, 2023 3. Michael Rosen
d. Great Arab Minds Award, 2023 4. Savita Ladage
A) a-3, b-4, c-1, d-2 B) a-1, b-4, c-3, d-2

@) a-4, b-1, c-2, d-3 D) a-3, b-2,c-4, d-1

The present Director of NCERT:

A)  Prof. Manidala Jagadesh Kumar
B) Prof. J S Rajput

@) Dr. Dinesh Prasad Saklani

D)  Dr. Abhay Jere

The classical dance form which originated from Gujarat:

A)  Gidda B) Ghoomar C) Garba D)  Lavani
The imaginary line that separates Earth’s atmosphere from space:

A)  Karmen line B) Brandt line

C)  Athila line D) 28" parallel line

The Padmasree Award winner poet popularly known as ‘Lok Kabi Ratna’:
A) Sitakant Mahopatra B) Haldhar Nag

@) Mahaswetha Devi D)  Gangadhar meher

Identify the correct statements related to Madhika language:

1. Madhika is a language with no script and is a blend of Telugu, Tulu,
Kannada, and Malayalam

2. In the remote colony of Kookanam, near Karivellur grama panchayat, Kerala
the Chakaliya community is grappling with the imminent loss of its unique
language Madhika

3. Chakaliya community was originally nomadic Scheduled Caste and
worshippers of Thiruvenkatramana and Mariamma. They migrated from the
hilly regions of Karnataka to northern Malabar centuries ago

A) 1,2&3 B) l1&2only C) l1&3only D) 2&3only
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